& CURT
INSTALLATION MANUAL 19264

Level of Difficulty

Easy

Installation difficulty levels are based on time
and effort involved and may vary depending on
the installer level of expertise, condition of the
vehicle and proper tools and equipment.

Parts List

Iltem | Qty Description

Never exceed the vehicle manufacturer's recommended towing capacity.
Never exceed the product's weight capacity.
Do not modify or use this accessory for purposes other than for which it was designed.

It is the user's responsibility to adhere to all state and federal laws regarding
obstruction of vehicle lighting (i.e. brake lights, tailights, turn signals
and backup lights) and license plate when using this accessory.

1

oD O AW NN =
- =N NN

Wheel basket

Carriage bolt, M8x1.25x45mm
Nylock nut, M8-1.25

Flat washer

Wrench

Plastic spacer

Product Photo

NOTICE

Visit www.curtmfg.com for a full-color copy of this
instruction manual, as well as helpful videos, guides and much more!

Before you begin installation, read all instructions thoroughly.
Proper tools will improve the quality of installation and reduce the time required.

Periodic inspection of your product should be performed
to ensure all hardware and / or components remain secure.

To help prevent damage to the product or vehicle, refer to the specified
torque specifications when securing hardware during the installation process.

Product Registration and Warranty

CURT stands behind our products with industry-leading warranties. To get copies of the product
warranties, register your purchase or provide feedback, visit: warranty.curtgroup.com/surveys

CURTMFG.COM < PRODUCT SUPPORT: 877.287.8634 + 19264-INS-RA + 09/05/2024 + ECN12018 - PAGE 1 OLiPPERT



ASSEMBLY

Parts List
Iltem | Qty Description

1 Wheel basket

Carriage bolt, M8x1.25x45mm
Nylock nut, M8-1.25

Flat washer

Wrench

Plastic spacer

D oA wWw NN =
- =N NN

Step 1

Aligning the holes, insert two carriage bolts
(#2) through the wheel basket (#1),
plastic spacer (#6) and tray as shown.

Note: Ensure the tallest portion of
the wheel basket is positioned toward
the center of the tray assembly.

Place a flat washer (#4) and nylock nut (#3)
on each carriage bolt. Tighten with provided

wrench (#5) firmly without crushing the tray.

Position tire strap (not included) in
the notched areas of the wheel basket.

TOWING BASICS & SAFETY INFORMATION

For information on safely towing your trailer, visit curtmfg.com/understanding-towing.

CURTMFG.COM - PRODUCT SUPPORT: 877.287.8634 - 19264-INS-RA - 09/05/2024 - ECN12018 + PAGE 2

LiPPERT



